e+ P
e SRamR) Wi



e T R s e il i S e s |




% S EHER S

IPKIS POWER-TECH







XL ]

IPKIS POWER-TECH

O XEEN DL T
PIRETI R D LiHF
WURFT T 2 0 el F

O:LEN —HZHZABED EIRT
BRELEEN D Lin T

PIRFTE B D LinF
KERD ZiH T
RIEDEIH T

PUL: SAPUNEEWaEsd
Lt HAS DL T

HADL&iHF




vaksA e
DISTRIBUTION BOX
|

[01] EBE Rt B IR RN B R AT www.ipkis.com.cn






oW BT ke

\s IPKIS POWER-TECH DISTRIBUTION BOX

BIEHXEEN D LIRR




7 &imF

DISTRIBUTION BOX

= H LB )

IPKIS POWER-TECH

AF2-25/4X9

T{EBEOperating temperature: -25°C~+110°C
XTI E Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

ifx ThVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BrEl Carbon steel
[E£&HEPressure wire frame: F#¥ Carbon steel
S {kConductor: H62%[ Copper

#B{%Plastic parts: PA66 UL94-VO0

1& 1T Design standards: 1EC60947-7-1
ZNE S #1Rated parameters: 690V/AC 101A
#ekLine side:

$RETScrew:

HsETorque:

H4£Load side: 9x1~4mm’

AWG: 16~12

2§ Screw: M3

HsETorque: 0.8N.m

-

17.5
) o
R .
3 2 1 9>®3 eee E
S e T @
gl 1255 Y-
VY [ ] ]
oY 18

AF2-35/10X4

T {EBEOperating temperature: -25°C~+110°C
FEXTIE ERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

ifx shVibration : 10~200Hz acceleration of 50m /s

12%TScrew: BrEl Carbon steel
[E4k4ZPressure wire frame: i Carbon steel
S {kConductor: H62%F Copper

#B{#Plastic parts: PA66 UL94-V0

&R EDesign standards: [EC60947-7-1
ZE B ERated parameters: 690V/AC 125A
WekLine side:

25T Screw:

HsETorque:

Hi£kLoad side: 4x2.5~10mm’

AWG: 14~8

$RETScrew: M4

HsETorque: 1.8N.m

\‘
—
©
oo

] , R
S o .

M &N

a6 [ \ o

C = 18




VA5 A e Emrsmnn Pne
wu
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HEXTE E Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AE S #Rated parameters: 690V/AC 125A
AF2-35A/16 X2 H4&Line side:

$RETScrew:

HsETorque:

HkLoad side: 2x4~16mm’

AWG: 12~6

#R¥TScrew: M5

HsETorque: 2.0N.m

AF235MBx2 || ;
] -
01 P 147

37

2“1‘6.5 1 2

=4

34.75

@
@

25 I L

T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

A

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&It EDesign standards: 1EC60947-7-1
AF2-35B/10X4 IME S % Rated parameters: 690V/AC 125A

#zLLine side:

12E]Screw: M8

H%ETorque: 12N.m

H4£Load side: 4x2.5~10mm’

AWG: 14~8

12E]Screw: M4

H%ETorque: 1.8N.m

8.25
Ok
:
ke
|
A

8

-
|
NEE
e

48

'Bn

IPKIS/07



R IR
DISTRIBUTION BOX

EHEin) KNe

IPKIS POWER-TECH

AF2-35B/16 X2

T{EBEOperating temperature: -25°C~+110°C
ABXTE ERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: BN Carbon steel
[E£EHEPressure wire frame: Fx#i Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&It &Design standards: 1EC60947-7-1
ZNE S #Rated parameters: 690V/AC 125A
& Line side:

$2ETScrew: M8

H%ETorque: 12N.m

H#kLoad side: 2x4~16mm’

AWG: 12~6

#ZETScrew: M5

HBETorque: 2.0N.m

19

5 14.6

03]

37£0.25

40.25

25

AF2-95B/16X4

T{EREOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4AEPressure wire frame: ik Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&It EDesign standards: 1EC60947-7-1
BE S ¥ Rated parameters: 690V/AC 232A
#LLine side:

#ZETScrew: M8

H%ETorque: 12N.m

H4£Load side: 4x4~16mm’

AWG: 12~6

$RETScrew: M5

Hi%ETorque: 2.0N.m

20.5

55

32

46

20.6
#
]

IPKIS/08



73 Vi ¥ Eaminns Be
DISTRIBUTION BOX IPKIS POWER-TECH M

t-‘ T{EBEOperating temperature: -25°C~+110°C
- FExHEERelative humidity: +40°C , 50%RH
@ & KSEFIAIr pressure: 40Kpa
%:‘_ : & #& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£EHEPressure wire frame: Fx#i Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1

AE S #Rated parameters: 690V/AC 232A
AF2-95B/10X9 H#ekline side:

125]Screw: M8

Hi%ETorque: 12N.m

H4££Load side: 9x2.5~10mm’

AWG: 14~8

12E]Screw: M4

HBETorque: 1.8N.m

..6.00
19.50
s m :
© OO
S0 6uss 0
eee
28.00 56.80
T{EREOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa
¥fx shVibration : 10~200Hz acceleration of 50m /s
#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper
#B{*Plastic parts: PA66 UL94-VO0
&R &EDesign standards: 1EC60947-7-1
ZE S ¥ Rated parameters: 690V/AC 192A
#LLine side:
12E]Screw: M8
AF2-95B/10X6 H%ETorque: 12N.m
Hi#Load side: 6x2.5~10mm’
AWG: 14~8
12E]Screw: M4
H%ETorque: 1.8N.m
17 6

FET
Q]
o
[

(SEa -
== oo g L J°
RO 000 1= @
< fiaTara ‘ ] Eg
Od 28 44

IPKIS/09



yAEsA e

DISTRIBUTION BOX

EpziEes e

IPKIS POWER-TECH \!

AF2-95B/2

T{EBEOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {KkConductor: H6237 Copper
#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 232A
#LLine side:

12E]Screw: M8

H%ETorque: 12N.m

H4£kLoad side: 2x30~95mm’

AWG: 2~000

12%]Screw: M10

Hi%ETorque: 15N.m

61.5+0.8
I
I

BE A-A

AF2-7T0BL/70+10

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E£6HEPressure wire frame: F Carbon steel
SH{kConductor: H62%[ Copper
#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
AE S #Rated parameters: 690V/AC 192A
#zLLine side:

#2ETScrew: M8

HETorque: 12N.m

H4£Load side: 2.5~10+25~70mm’

AWG: 2~000

125TScrew: M4+M10

Hi%ETorque: 1.8+15N.m

95
” 9 - 66 118 .
11 %"’ 0
T -0]| g8 .=
‘ﬂ 951@” oo I == 5
§ ; Z
U 4i’ow\ J

IPKIS/10



&R T

DISTRIBUTION BOX

% H SR EE )

IPKIS POWER-TECH

S

AF2-70BR/70+10

T{EBEOperating temperature: -25°C~+110°C

FEXERERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {KkConductor: H6237 Copper
#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AE S Rated parameters: 690V/AC 192A
#LLine side:

#2ETScrew: M8

H4ETorque: 12N.m

HkLoad side: 2.5~10+25~70mm’

AWG: 2~000

12E]Screw: M4+M10

H%ETorque: 1.8+15N.m

Rl P T
[l SIS y 2
3

C i C

. [kl
29 95

24 |
v

51

118

IPKIS/11

AF2-35B/HS16X2

T {EBEOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

25T Screw: HiM Carbon steel
[E£AEPressure wire frame: Bt Carbon steel
S {KkConductor: H62%R Copper

#B{#Plastic parts: PA66 UL94-V0

&I Design standards: 1EC60947-7-1
AE S Rated parameters: 690V/AC 125A
Hekline side:

#2ETScrew: M8

HETorque: 12N.m

Hi#Load side: 2x4~16mm’

AWG: 12~6

BRE]Screw: WA7<ADouble hexagon M5
H%BETorque: 2.0N.m

| SBmm 18mm2
@20V 1264 12020047

37.2

33
25 52

©0
00




73 Vi ¥ EpziEes e
DISTRIBUTION BOX IPKIS POWER-TECH | \!

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C , 50%RH
ASESAIr pressure: 40Kpa

& shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: Bk Carbon steel
[E£&HEPressure wire frame: Hx#¥ Carbon steel
SE{RConductor: H62%F Copper
#B{Plastic parts:  PA66 UL94-V0

1& 1 Design standards: 1EC60947-7-1
ZNE 2 $4Rated parameters: 690V/AC 232A
#ekLine side:

AF2-95B/HS16X4 #RE]Screw: M8

HETorque: 12N.m

H4£Load side: 4x4~16mm’

AWG: 12~6

#RETScrew: YWA7<ADouble hexagon M5
HsETorque: 2.0N.m

4T ; il
ﬁ%f@@ H( 53 =
25 735

T{EREOperating temperature: -25°C~+110°C
FERTEERelative humidity: +40°C , 50%RH
KSJEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#2£TScrew: HEN Carbon steel
[E£EHEPressure wire frame: #ix#0 Carbon steel
S fAConductor: H62§E Copper
#B{#Plastic parts: PA66 UL94-V0

&R EDesign standards: [EC60947-7-1
AF2-95B/HS16X6 FE S Rated parameters: 690V/AC 232A

#&Line side:

#2%TScrew: M8

Hi%ETorque: 12N.m

H4£Load side: 6x4~16mm’

AWG: 12~6

#25TScrew: WA7<ADouble hexagon M5

% Torque: 2.0N.m

68

L

) ~{°*[5 -go[-ocfoor
-00|-00{00

IPKIS/12



7 el EHAIEE)
DISTRIBUTION BOX IPKIS POWER-TECH

R TR L ) Sl £

Transitional plate wiring distribution box

ERAMESH Environmental conditions
T{EREOperating temperature: -25°C~+110°C
1B EE Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s
#5: Material

#25TScrew: BN Carbon steel

[E£AEPressure wire frame: B Carbon steel
SE{AConductor: H62%[ Copper

#B{%¥Plastic parts: PA66 UL94-V0
FERARSE Main technical parameters
&R Design standards: IEC60947-7-1
EE S #Rated parameters: 690V/AC 125A

M4 Line side: 10~35mm’

12£TScrew: M6

Hi%ETorque: 5N.m

AF1-35/10X 4 H4£Load side: 4x2.5~10mm’

AWG: 14~8

$2ETScrew: M4

H%ETorque: 1.8N.m

SMERST Size 16,9
e I(C )
3_34/@5
g | S8 1ees s P
cer
o0 . “
= 1)
24 — L

IPKIS/13



s A
DISTRIBUTION BOX

% H SR EE )

IPKIS POWER-TECH

AF1-35B/10X4

BAMIES M Environmental conditions
T{EBEOperating temperature: -25°C~+110°C
ABXTE ERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s
5 Material

#RETScrew: BN Carbon steel

[E£LHEPressure wire frame: ikl Carbon steel
SH{kConductor: H62%[ Copper

#B{%¥Plastic parts: PA66 UL94-V0

N

FERARSE Main technical parameters
&itHREDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 125A
#HLine side: 10~35mm’ZifAHE20x3
#25]Screw: M8

HBTorque: 12N.m

H£kLoad side: 4x2.5~10mm’

AWG: 14~8

12E]Screw: M4

Hi%ETorque: 1.8N.m

SMERST Size

i

N
|

58.35
A
pe
&
N

<)
153
15

il g

AF1-35B/16X2

ERAMIESMY Environmental conditions
T{EREOperating temperature: -25°C~+110°C
1B EE Relative humidity: +40°C, 50%RH
KSJETIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s
5 Material

#25TScrew: BN Carbon steel

[E4AEPressure wire frame: ik Carbon steel
SE{kConductor: H62%F Copper

#B{%¥Plastic parts: PA66 UL94-V0
FERFASE Main technical parameters
&R &EDesign standards: 1EC60947-7-1
HE S $Rated parameters: 690V/AC 125A
#4Line side: 10~35mm’Z7#E20x3
12E]Screw: M8

Hi%ETorque: 12N.m

H4kLoad side: 2x4~16mm’

AWG: 12~6

#2E]Screw: M5

Hi%E Torque: 2.0N.m

IMERST Size
21
57
Ve 49.5
g e
N Hg: N 1 © AL
g . . o o
niiziiln =Xa) — 24!
25 S[

IPKIS/ 14



s A

DISTRIBUTION BOX

% H SR EE )

IPKIS POWER-TECH

AF1-50B/6 X8

EAIFIBE L Environmental conditions
T{EBEOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s
45 Material

#RETScrew: BN Carbon steel

[E£&HEPressure wire frame: Fx# Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO
FERARSE Main technical parameters
&itHREDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 150A
H£Line side: 16~50mm’Bi3AHE20x3
#RETScrew: M8

HBTorque: 12N.m

Hi£kLoad side: 8x1.5~6mm’

AWG: 16~10

12E]Screw: M4

Hi%ETorque: 1.8N.m ﬁg

IPKIS/15

SMERT Size w g -
SER | "
g [od&dle g 3 R
65eel, | |000d
: s
— 6660 o
35 oj=—
fEFRIFE S Environmental conditions
T{EREOperating temperature: -25°C~+110°C
1B EE Relative humidity: +40°C, 50%RH
KSJETIAIr pressure: 40Kpa
& BhVibration : 10~200Hz acceleration of 50m /s
#45 Material
25T Screw: R Carbon steel
[E£&HEPressure wire frame: Fx#Y Carbon steel
SE{AConductor: H62%[ Copper
#B{*Plastic parts: PA66 UL94-VO0
FERFASE Main technical parameters
&R &EDesign standards: 1EC60947-7-1
EE L #Rated parameters: 690V/AC 192A
L Line side: 25~70mm 2 $AHE25x3
AF]'_?OB/16X3 2 %TScrew: M8
Hi%E Torque: 12N.m
H4£Load side: 3x4~16mm’
AWG: 12~6
12ETScrew: M5
B Torque: 2.0N.m
INERT Size
63.9
= e 4 30 ['5—‘1
g [P — @ el
ala¥z =1 o eoﬂ
9 rig| A&
36 == R e




R IR
DISTRIBUTION BOX

EHEin) KNe

IPKIS POWER-TECH

AF1-95B/10X10

T{EBEOperating temperature: -25°C~+110°C
HEXTE E Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EE S % Rated parameters: 690V/AC 232A
#Line side: 30~95mm = fFHE30x3
$R¥TScrew: M8

Hi%ETorque: 12N.m

H4kLoad side: 10x2.5~10mm’

AWG: 14~8

BRE]Screw: M4

H%ETorque: 1.8N.m

1|5

72
81

‘51 A
| 100

52

fl

AF1-70x2/10X12

T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
ZE S ¥ Rated parameters: 690V/AC 192A
4 Line side: 2x25~70mm’

12ETScrew: M8

H4ETorque: 12N.m

H4£Load side: 12x2.5~10mm’

AWG: 14~8

IRETScrew: M4

Hi%ETorque: 1.8N.m

fem [|oo
006668 oo

OI010JQ,

[

56

IPKIS/18



R IR

DISTRIBUTION BOX

Zainn) KNe

IPKIS POWER-TECH

AF1-70B/16X4

L1

o ——
—
-

-,

|
4
=

L)

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 192A
#Line side: 25~7T0mm’ZifAHE25x3
#2E]Screw: M8

HBTorque: 12N.m

HkLoad side: 4x4~16mm?

AWG: 12~6
$RETScrew: M5
Hi%ETorque: 2.0N.m 34
r§1
T
@E‘:‘l 465 . 493
[ — .
@‘@“}@3 @@
co 06
IS —
=

OQJ

73

61.35

IPKIS/17

AF1-95B/10X6

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
BE S ¥ Rated parameters: 690V/AC 232A
#ZLine side: 30~95mm s 5AHE30x3

2§ Screw: M8

% Torque: 12N.m

H4ELoad side: 6x2.5~10mm’

AWG: 14~8

12E]Screw: M4

HBETorque: 1.8N.m

30

922

82.2

l&H‘"'""“

51

Lk
3

i I Z— 1

34 353 o

(G}

099
PPP

4.25

6.25




R IR
DISTRIBUTION BOX

s

AF1-95B/16X6

BAMIEEH Environmental conditions
T{EBEOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s
B Material

#25TScrew: M Carbon steel

[E£&HEPressure wire frame: % Carbon steel
Se{RConductor: H62%F Copper

#B{+Plastic parts: PA66 UL94-VO

FERARSE Main technical parameters
&itHREDesign standards: 1EC60947-7-1
EE 2 #MRated parameters: 690V/AC 232A
#£Line side: 30~95mm B 3AHE30x3
12ETScrew: M8

H%ETorque: 12N.m

HkLoad side: 6x4~16mm’

AWG: 12~6

IRETScrew: M5

H¥ETorque: 2.0N.m

40

8
IMNZR<T Size E‘

¥
91
82
35.5
73

61.4
-0

T ess 6b¢é

“ | loe

AF1-150B/25+16X2+10 X8

BRI IE M Environmental conditions
T{EREOperating temperature: -25°C~+110°C
1B EE Relative humidity: +40°C, 50%RH
KSJETIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s
#5 Material

#25TScrew: BN Carbon steel

[E4AEPressure wire frame: ik Carbon steel
S {AConductor: H62%@ Copper

#B{*Plastic parts: PA66 UL94-VO0
FERFASE Main technical parameters
&R &EDesign standards: 1EC60947-7-1

ZE Z%Rated parameters: 690V/AC 309A
#ZLine side: 35~150mm T AHE30x3
#2ETScrew: M8

H%ETorque: 12N.m

H£kLoad side: 1x10~25+2x4~16+8x2.5~10mm’
AWG: 14~4

$RETScrew: M6+M4

Hi%ETorque: 5+1.8N.m

SNERT Size )

108.5
100
®
®
91,5
35.5
8

IPKIS/20



R IR
DISTRIBUTION BOX

FmiEe)) Rl

IPKIS POWER-TECH

AF1-240B/16X12

T{EBEOperating temperature: -25°C~+110°C
ABXTE ERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: BN Carbon steel
[E£EHEPressure wire frame: Fx#i Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&It &Design standards: 1EC60947-7-1
ZE S%Rated parameters: 690V/AC 415A
B Line side: 95~240mm’ T iAHE60x3
$R¥TScrew: M12

HBTorque: 20N.m

H£kLoad side: 12x4~16mm’

AWG: 12~6

#RETScrew: M5

Hi%ETorque: 2.0N.m

67

99

81

IPKIS/19

AF1-500B/16X12

T{EREOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4AEPressure wire frame: ik Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
EE 2% Rated parameters: 690V/AC 1000A
##£Line side: 95~500mm B FAHE60x3
125]Screw: M14

HETorque: 20N.m

H£kLoad side: 12x4~16mm’

AWG: 12~6

12E]Screw: M5

H¥BTorque: 2.0N.m

99

81




pAEsA o B EEE S
DISTRIBUTION BOX IPKIS POWER-TECH

AF L1 T 70 e R
AF1 series Duplex transitional style branch
terminal module

EAIFIEEH Environmental conditions
T{EREOperating temperature: -25°C~+110°C
1B EE Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s
B Material

#25TScrew: FxW Carbon steel

[E£LHEPressure wire frame: ikl Carbon steel
SE{AConductor: H62%[ Copper

#B{%¥Plastic parts: PA66 UL94-V0
FERARSE Main technical parameters
&R Design standards: IEC60947-7-1
EES#Rated parameters: 690V/AC 125A
AF1-35BX2/10X8 B Line side: 10~35mm s 74203
125]Screw: M8

HsETorque: 12N.m

MRS Size - _ )
o H#kLoad side: 8x2.5~10mm
8, AWG: 14~8
i () A 1BETScrew: M4
i =
o Hi%ETorque: 1.8N.m
—A—" ® & ®
(&]¢)
00 | 00 O
—F——I[F T l
O =] =)
58

IPKIS/22



VA5 A e Emrsmnn Pne
wu
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

AF1-50B/6X8+10x4 i’ii‘ﬁ)&Design standards: IEC60947-7-1
EE S #Rated parameters: 690V/AC 150A
H£Line side: 16~50mm 5 EHHE25%3
12E]Screw: M8
H4ETorque: 12N.m
H4££Load side: 4x2.5~10+8x1.5~6mm’

o AWG: 14~8

= = 125TScrew: M4

i o A8 Hi%ETorque: 1.8N.m
[——— & 5 @
0000
0000 00 o)
e -
& — :ﬂ] 58

T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
BE S ¥ Rated parameters: 690V/AC 150A
#kLine side: 16~50mm’giA#HE25x3
125]Screw: M8

HETorque: 12N.m

H4£Load side: 16x1.5~6mm’

. AWG: 14~8

o — $2ETScrew: M4

Y O i Hi%ETorque: 1.8N.m
j:fj:f = =y |
OO0 | ODDD
OO0 | OO0 ¢
o= O—/— Lf

58

IPKIS/21



R IR
DISTRIBUTION BOX

EHEin) KNe

IPKIS POWER-TECH

g

($]
©
04,
8l

(]
(5]

82

91

AF1-70B/16X4+10X4

! SOD

73

61

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 192A
#kLine side: 25~7T0mm’ gL fAHE25x3
12E]Screw: M8

H%ETorque: 12N.m

H4ELoad side: 4x2.5~10+4x4~16mm’
AWG: 14~6

12E]Screw: M5

Hi%ETorque: 2.0N.m

68

AF1-70BX2/16X8

Ioo

82

91

73

61

T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
BE S ¥ Rated parameters: 690V/AC 192A
#kLine side: 25~70mm gk §AH25x3
125]Screw: M8

HETorque: 12N.m

H4£Load side: 8x4~16mm’

AWG: 12~6

125]Screw: M5

Hi%ETorque: 2.0N.m

IPKIS/24



VA5 A e Emrsmnn Pne
wu
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

g
AF1-70B/16X4+6X8 &I T &EDesign standards: 1EC60947-7-1

EE S #Rated parameters: 690V/AC 192A
#kLine side: 25~7T0mm’ gL fAHE25x3
12E]Screw: M8

H4ETorque: 12N.m

H4£Load side: 8x1.5~6+4x4~16mm’
69

AWG: 14~6
—~ ] il - #2ETScrew: M5
O Hi%ETorque: 2.0N.m
= 7 b
OO OO0
06 0000 o
oc‘ = 61

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
AF1-95B/16X6+6X8 BE B #Rated parameters: 690V/AC 232A
H#£Line side: 35~95mm B EHE30x3
125]Screw: M8
HETorque: 12N.m
H 4L oad side: 8x1.5~6+6x4~16mm’
AWG: 14~6
125]Screw: M5
O % Torque: 2.0N.m

73

61

IPKIS/23



?

DISTRIBUTION BOX

EHEin) KNe

IPKIS POWER-TECH

AF1-95B/16X6+10X4

[SXE )

H
:

00D

91

H ~
O
@)
61

T{EBEOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 232A
H#£Line side: 35~95mm I EHHE30x3
12E]Screw: M8

H%ETorque: 12N.m

H4£ELoad side: 4x2.5~10+6x4~16mm’
AWG: 12~6

12E]Screw: M5

Hi%ETorque: 2.0N.m

AF1-95BX2/16X12

80

000

OO0

82

00O

000

91

73

61

T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
BE B #Rated parameters: 690V/AC 232A
H#£Line side: 35~95mm B EHE30x3
125]Screw: M8

HETorque: 12N.m

H4Load side: 12x4~16mm’

AWG: 12~6

125]Screw: M5

Hi%ETorque: 2.0N.m

IPKIS/26



agsA Eanins e
77 2R im o
DISTRIBUTION BOX IPKiS POWER-TECH (AP

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AF1-95B/16X10 FES ¥ Rated parameters: 690V/AC 232A

Hekline side: 30~95mm’ZEAHE30x3

25T Screw: M8

Hi%ETorque: 12N.m

tikLoad side: 10x4~16mm’

AWG: 12~6

#BE]Screw: M5

HsETorque: 2.0N.m

74

t | H =
O
T 97 &
00 606
00 000 e
o ag=——| N

IPKIS/25



yAEsA e

DISTRIBUTION BOX

EpziEes e

IPKIS POWER-TECH \!

AF1-70B/35X2

T{EBEOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {KkConductor: H6237 Copper
#B{+Plastic parts: PA66 UL94-VO

&It &Design standards: 1EC60947-7-1
AE S #Rated parameters: 800V/AC 192A
W& Line side: 50~70mm’

12%]Screw: M10

H%ETorque: 15N.m

HkLoad side: 2x25~35mm’

AWG: 4~2

#2ETScrew: M6

HsETorque: 5N.m

133.8
137.8

132.8

o & T
O
@ 3 3

109

AF1-120B/35X4

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E£6HEPressure wire frame: F Carbon steel
SH{kConductor: H62%[ Copper
#B{*Plastic parts: PA66 UL94-VO0

&It EDesign standards: 1EC60947-7-1
EE 2 #MRated parameters: 800V/AC 269A
M Line side: 70~120mm’

#2¥TScrew: M10

H%ETorque: 15N.m

H4kLoad side: 4x25~35mm’

AWG: 4~2

#BE]Screw: M6

Hi%ETorque: 5N.m

v\

133.8

132.8
137.8

o o0 uENED
®0 (¢ o] 3 H3
L 50 P 109

I, ! 62

IPKIS/28



73 Vi ¥ gLl
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {KkConductor: H6237 Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AF1-200B/35X6 % B4Rated parameters: 800V/AC 360A

#4Line side: 120~200mm’

#2§]Screw: M10

Hi%ETorque: 15N.m

H£kLoad side: 6x25~35mm’

AWG: 4~2

#2ETScrew: M6

Hi%ETorque: 5N.m

y\

132.8

133.8
137.8
I

q

D

oo
oo

]
Q| e

109

[\ WaY
&
ja\WaY
80
[ /a\)
&Y

el oo

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E£6HEPressure wire frame: F Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&1t EDesign standards: IEC60947-7-1
AF1-300B/35X8 %’)ﬁi%%ﬁmate% parameters: 800V/AC 520A

4 Line side: 70~120mm’

125TScrew: M10

H%ETorque: 15N.m

H#%Load side: 4x25~35mm’

AWG: 4~2

12E]Screw: M6

HsETorque: 5N.m

133.8
137.8

wf

(1]
[ 1s

[\ W=
&Y
[\ WaY
NS/
&0
o
HO-HO
OO
HOHO
O

110 109
122

IPKIS/27



\ 4 Al
R IR
DISTRIBUTION BOX

EpziEes e

IPKIS POWER-TECH \!

T{EBEOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {KkConductor: H6237 Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AE S #Rated parameters: 690V/AC 192A
#kLine side: 25~7T0mm’ 2 fAHE25x3
#ZETScrew: M8

H%ETorque: 12N.m

H4£Load side: 25~7T0mm =i fHE25x3
AWG: 4~00

#2ETScrew: M8

HETorque: 12N.m

AF1-16/C-16 X2

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E£6HEPressure wire frame: F Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
AE ¥ Rated parameters: 690V/AC T2A
#kLine side: 4~16mm’

#2ETScrew: M5

HsETorque: 2.0N.m

HkLoad side: 2x4~16mm?

AWG: 12~6

#2ETScrew: M5

HsETorque: 2.0N.m

51.58+0.3
41.98
-a " ¢
N
0
é \
18+02, |

IPKIS/30



DT EpziEes e
DISTRIBUTION BOX IPKIS POWER-TECH |

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {kConductor: H62%R Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 101A
#&Line side: 10~25mm’

#25TScrew: M6

HsETorque: 8.0N.m

AF1-25/C-16 X3 HkLoad side: 3x4~16mm’

AWG: 14~6

125 Screw: M5

Hi%ETorque: 2.0N.m

83402

93104
o=

o
44

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E£&HEPressure wire frame: i Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &Design standards: IEC60947-7-1
AE S Rated parameters: 690V/AC 125A
AF1-35/C-16 X4 #LLine side:

$RETScrew: M6

Hi%ETorque: 5.0N.m

HkLoad side: 4x2.5~16mm’

AWG: 14~6

125]Screw: M5

H%ETorque: 2.0N.m

5035 F
I
-d
~d o

0+0.5

109.

- a
@] 'G Lj
0
: S
20£0.2

61.3540.35

IPKIS/29



\ 4 Al
R IR
DISTRIBUTION BOX

EpziEes e

IPKIS POWER-TECH \!

AF1-3BW
(A+B+C+PE+N)

T{EBEOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

#x shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£AEPressure wire frame: B Carbon steel
S {KkConductor: H6237 Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AE S Rated parameters: 690V/AC T6A
M4 Line side: 5x4~16mm’

#2E]Screw: M5

HsETorque: 2.0N.m

H#Load side: 3x2.5~10+4x2.5~16mm’
AWG: 14~6

2ETScrew: M4+ M5

Hi%ETorque: 1.8+2.0N.m

(©) Bl
HE !
| H BE A B C L 111 il
3| @ rY=] = = =
© e
p 8| D 19101010
2l o o ot e
8%
3 of @)
= U

AF1-6BW
(A+B+C+PE)

T{EREOperating temperature: -25°C~+110°C
HEXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E£6HEPressure wire frame: F Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&It EDesign standards: 1EC60947-7-1
EE S #Rated parameters: 690V/AC 125/150A
#LLine side:

12E]Screw: M8

H%ETorque: 12N.m

H4kLoad side: 7x2.5~16mm’

AWG: 14~6

#2E]Screw: M5

H%ETorque: 2.0N.m

103.6:04
93.640.2

0.35

Y e I e Y e T e Y T

o
S
£l
0
3
o

69.35.

45.98+0.35

2498

24.38

= = =
[T

IPKIS/32



73 £ £ EH ] “,ﬁs
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥ ShVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
ZE S ¥ Rated parameters: 690V/AC 125/192A
#HELine side:

AF1-9BW $2ETScrew: M8

(A+B+C+PE) 4B Torque: 12N.m
H#%Load side: 10x2.5~16mm’
AWG: 14~6

#ZETScrew: M5
Hi%ETorque: 2.0N.m

124605
114,602

L
ST

53

45.98+0.35
25.18
24.38

[ = = =]
1T T

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#RETScrew: BN Carbon steel
[E4HEPressure wire frame: Fx#0 Carbon steel
SH{kConductor: H62%[ Copper

8 i . R
AF3-25/25 #B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
FE S $MRated parameters: 690V/AC 101A
Hékline side: 10~25mm’

12E]Screw: M5

Hi%ETorque: 2.0N.m

H4kLoad side: 10~25mm’

AWG: 8~4

125 Screw: M5

HsETorque: 2.0N.m

= aN—
S 65.40
| © .
=0 el B . ‘ ‘
o)
55.90 ~ 9 M‘J@L@zl
75.00 — S [BEv

IPKIS/31



R IR
DISTRIBUTION BOX

EHEin) KNe

IPKIS POWER-TECH

AF1-HS35/HS16X2

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥ ShVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
EES#Rated parameters: 690V/AC 125A
HeklLine side: 10~35mm’

#BE]Screw: WA7<ADouble hexagon M7
HsETorque: 8.0N.m

tikLoad side: 2x4~16mm’

AWG: 12~6

#25TScrew: WWA7<ADouble hexagon M5
HI%ETorque: 2.0N.m

|

a4 S v oy

|29~ ) ) ) 6 OlO-
| I @354 m - 5O

26 65.5 283

43.2

it

@)

)|[@i

(@]

6.43
8.37

I B
e
1943

| 2

AF1-50B/HS25X2

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
FE S #Rated parameters: 690V/AC 150A
M Line side: 16~50mm s f#3E20x3
#RETScrew: M8

HI%ETorque: 12N.m

il oad side: 2x10~25mm’

AWG: 8~4

15T Screw: WA7<ADouble hexagon M5
HI%ETorque: 2.0N.m

45

00

24
9.6

‘ | 794 a7 124

IPKIS/34



R IR
DISTRIBUTION BOX

Zainn) KNe

IPKIS POWER-TECH

o

AF1-95B/HS16x4

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥ ShVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AE S #Rated parameters: 690V/AC 232A
#eZLine side: 35~95mm s fA#HE30x3
#RETScrew: M8

H%ETorque: 12N.m

HkLoad side: 4x4~16mm?*

AWG: 12~6

#25TScrew: WA7<ADouble hexagon M5
HI%ETorque: 2.0N.m

102.5
92
l_:a-: 75| B 0
) 2 -0
B o BeH CToolooT
Wﬂ_ % 0000
o L
T i — =

34 35.5 25.7

o

IPKIS/33

AF1-150B/HS16X6

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
FE 2 #MRated parameters: 690V/AC 309A
#Line side: 35~150mm B HHE30x3
#2%]Screw: M10

H%ETorque: 15N.m

tikLoad side: 6x4~16mm’

AWG: 12~6

#2E]Screw: WA7<ADouble hexagon M5
HsETorque: 2.0N.m

o
3
wol D | - .
Wﬁ T 355 9
T S 93.45
40 109.45




VA5 A e Emrsnn Pne
!
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥ ShVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AE S ¥ Rated parameters: 690V/AC T6A
W Line side: 2.5~16mm’

125 Screw: WA7<ADouble hexagon M5
H%ETorque: 2.0N.m

H4£Load side: 2.5~16mm’

AWG: 14~6

#25TScrew: WWA7<ADouble hexagon M5
Hi%ETorque: 2.0N.m

AF1-HS16/HS16

53.5
1)
2 ey - .
«@ = = TFRIS,
T w 1“9“'5 @@ @‘@ ;
13.5+0.2 60.5 53.5

IPKIS/36



DL IETF Zainn) KNe

DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HEXTE E Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

&I T &EDesign standards: 1EC60947-7-1
AF1-50B/50B-2P FE S ¥ Rated parameters: 690V/AC 150A

#eklLine side:

#85TScrew: M8

H%ETorque: 12N.m

ti&kLoad side:

AWG:

#RE]Screw: M8

HETorque: 12N.m

2350, 1250 3830
© B
PR 8
jmm | 53 >-
al T 1i5 S
55.50 = S
5
© |
3 LTas‘tfuov.‘
9 <

T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1
AE S #Rated parameters: 690V/AC 150A
#LLine side:

12E]Screw: M8

AF1-50B/50B-3P Hi%ETorque: 12N.m

H££Load side:

AWG:

#2%]Screw: M8

TH%ETOI’C]UG: 12N.m 2350 12'506,50 40.50
© ©H

3p : :

jm] jm] jm{ B S

@ =

10.50

IPKIS/37



VA5 A e EanEma Pne
!
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

¥ ShVibration : 10~200Hz acceleration of 50m /s

#RETScrew: kN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{+Plastic parts: PA66 UL94-VO

AF1-95B/95B-2P

&I T &EDesign standards: 1EC60947-7-1
AE S #Rated parameters: 690V/AC 232A
#£LLine side:

#2§TScrew: M8

Hi%ETorque: 12N.m

£k Load side:

AWG:

#RETScrew: M8

H4ETorque: 12.0N.m

855

102

=

69 ¥

50.65

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*Plastic parts: PA66 UL94-VO0

&R &EDesign standards: 1EC60947-7-1

AF1-95B/95B-3P \%ﬁi\%%ﬁmgte_d parameters: 690V/AC 232A
Htekline side:

$RETScrew: M8

Hi%ETorque: 12N.m

Hi£kLoad side:

AWG:

1BE]Screw: M8

H4ETorque: 12.0N.m

85.5
102

Ifl%w

102 !

24

75085

IPKIS/38



0 &RimF

DISTRIBUTION BOX

% H SR EE )

IPKIS POWER-TECH

£ B e = -

Enclosed Bus

AF3-95B/10 X4

IPKIS/39

R IE S Environmental conditions
T{EREOperating temperature: -25°C~+110°C
1B EE Relative humidity: +40°C, 50%RH
KSJETIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s
1B Material

#25TScrew: BN Carbon steel

[E£LHEPressure wire frame: ikl Carbon steel
SE{AConductor: H62%[ Copper

#B{%¥Plastic parts: PC

FEFARSER Main technical parameters
&R Design standards: IEC60947-7-1
EES#Rated parameters: 690V/AC 232A
#eklLine side:

125]Screw: M8

H%ETorque: 12N.m

H4£Load side: 4x2.5~10mm’

AWG: 14~8

12E]Screw: M5

Hi%ETorque: 2.0N.m

SMERST Size

AF3-4P

2
25.75 \%

B ar3
P
by
e

27.15

éﬁ@

87 47




VA5 A e Emrsnn Pne
wu
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HEXTE E Relative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&I T &EDesign standards: 1EC60947-7-1
FE S #Rated parameters: 690V/AC 232A
AF3-95B/10X 6 #HLine side:

#2ETScrew: M8

HETorque: 12N.m

H4£Load side: 6x2.5~10mm’

AWG: 14~8

#2E]Screw: M5

HsETorque: 2.0N.m

AF3-6P

% r 99 (‘/,&V
10.5 — © —
obbocoreTy B88888OHE | |
= r.:‘;!: 8 108 47
T{EREOperating temperature: -25°C~+110°C
#BXTEERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa
¥fx shVibration : 10~200Hz acceleration of 50m /s
#25TScrew: BN Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper
#B{*+Plastic parts: PC
&R &EDesign standards: 1EC60947-7-1
FE S ¥ Rated parameters: 690V/AC 232A
#LLine side:
AF3-95B/10X9 #B5TScrew: M8
HI%ETorque: 12N.m
H4££Load side: 9x2.5~10mm’
AWG: 14~8
12E]Screw: M5
HsETorque: 2.0N.m
130.5 <

25.75

#338288384[0% |

139.5 47

IPKIS/40



vaYsq=a Emrsmnn Pne
wu
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
ABXTE ERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#25TScrew: M Carbon steel
[E£&HEPressure wire frame: % Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&I T &EDesign standards: 1EC60947-7-1

EE S #Rated parameters: 690V/AC 232A
AF3-95B/10X 12 ##Line side:

12E]Screw: M8

HBTorque: 12N.m

Hi£kLoad side: 12x2.5~10mm’

AWG: 14~8

#RETScrew: M5

H%ETorque: 2.0N.m

AF3-12P

i$]

10.5
iOOOO(ggOOOOO ®

.il
27.15,

47

T{EREOperating temperature: -25°C~+110°C
ABXTEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

#25TScrew: BN Carbon steel
[E4AEPressure wire frame: ik Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&R &EDesign standards: 1EC60947-7-1
BE B #Rated parameters: 690V/AC 232A
#£LLine side:

12E]Screw: M8

H%ETorque: 12N.m

H4£Load side: 16x2.5~10mm’

AWG: 14~8

125]Screw: M5

Hi%ETorque: 2.0N.m

AF3-95B/10X 16

AF3-16P

i
27.15

47

10.5
iooé'o@ooooooooooo S

IPKIS/41



R IR
DISTRIBUTION BOX

EHEin) KNe

IPKIS POWER-TECH

AF3-95B/HS16 X4

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: HxEN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&I T &EDesign standards: 1EC60947-7-1
AE S Rated parameters: 690V/AC 232A
HeklLine side:

BRE]Screw: M8

HBTorque: 12N.m

il oad side: 4x4~16mm’

AWG: 12~6

1RE]Screw: WA7<ADouble hexagon M5
Hi%ETorque: 2.0N.m

25.75

REFILRTE
78+0.5

AF3-95B/HS16 X6

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&R &EDesign standards: 1EC60947-7-1
AE S Rated parameters: 690V/AC 232A
Htekline side:

#RE]Screw: M8

HETorque: 12N.m

H£kLoad side: 6x4~16mm’

AWG: 12~6

#RETScrew: A7 ADouble hexagon M5
Hi%ETorque: 2.0N.m

REFHRTE
105 99205

006boo

IPKIS/42



R IR
DISTRIBUTION BOX

Zainn) KNe

IPKIS POWER-TECH

AF3-95B/HS16X9

25.75
= o
000000000 g |0 H H S
1] = I = f;ll N —

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#RETScrew: HxEN Carbon steel
[E£AEPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&I T &EDesign standards: 1EC60947-7-1
AE S Rated parameters: 690V/AC 232A
HeklLine side:

BRE]Screw: M8

HBTorque: 12N.m

tikLoad side: 9x4~16mm’

AWG: 12~6

1RE]Screw: WA7<ADouble hexagon M5
Hi%ETorque: 2.0N.m

| — b REFILRTE

000000000 )6 130.5+

006000000 O n ——— -
130.5 J) Jy
139.5

AF3-95B/HS16X 12

25.75

10.5
Q%(@@@@@@@@ 8w

pro

27.5

= = o |_emsxs

] 0

U1

IPKIS/43

T{EREOperating temperature: -25°C~+110°C
FEXTIEERelative humidity: +40°C, 50%RH
KSEFIAIr pressure: 40Kpa

¥fx shVibration : 10~200Hz acceleration of 50m /s

25T Screw: R Carbon steel
[E4&#EPressure wire frame: B Carbon steel
SH{kConductor: H62%[ Copper

#B{*+Plastic parts: PC

&R &EDesign standards: 1EC60947-7-1
BE ¥ Rated parameters: 690V/AC 232A
#4Line side:

BE]Screw: M8

Hi%ETorque: 12N.m

H£kLoad side: 12x4~16mm’

AWG: 12~6

#BETScrew: WA7<ADouble hexagon M5
Hi%ETorque: 2.0N.m

ZEFARTE
162+1

SN

1

282



VA5 A e Emrsnn Pne
wu
DISTRIBUTION BOX IPKIS POWER-TECH

T{EBEOperating temperature: -25°C~+110°C
HBXTZERelative humidity: +40°C , 50%RH
KSEFIAIr pressure: 40Kpa

& BhVibration : 10~200Hz acceleration of 50m /s

#2ETScrew: BN Carbon steel

57 i : Bk
AF3-95B/HS16 % 16 E£EHEPressure wire frame: i# Carbon steel
SH{kConductor: H62%[ Copper
#B{*+Plastic parts: PC

&I T &EDesign standards: 1EC60947-7-1
ENE S#Rated parameters: 690V/AC 232A
#eklLine side:

25T Screw: M8

Hi%ETorque: 12N.m

thikLoad side: 16x4~16mm’

AWG: 12~6

25T Screw: WA7<ADouble hexagon M5
HsETorque: 2.0N.m

.15
"""""" T [ 204 S ZEFARTE
' 2041
HOQQ?@OQQOOQOOQ =] &9 008000000000000C ‘J: lﬂﬁB
vy 7 213

IPKIS/ 44



Y DIERR, BRFFE

@’ Cherishing resources, environmentally friendly

BRI E DRI BR A

SHANGHAI IPKIS POWER TECHNOLOGY CO., LTD.

EBEHIIX N SRR REEEAS5 S X R [ DEE
Hangiao Culture Science & Technology Zone

No. 455, Yanzhan Road, Songjiang District, Shanghai
B4R P. C: 201615

STel: 021-51693866
fEEFax: 021-51872552
Http://www.ipkis.com.cn
E-mail:ipkis@ipkis.com.cn



